SOLUTIONS FOR THE “MIDTERM”

BENJAMIN YAKIR

Problem 1.
(1) 108 x 26 x 25 x 24 x 23 x 22.
(2) 108 x 26° x (¥£7).
8¥5-4
(3) 10® x 26° x (°*277).

Problem 2.
(1) (n—6)x6+2x5+2x442x3
n! :
(2) 258
Problem 3.
(1)
P(E) =[5518] x [595 + 31a) + [i55] < [31% + 314
+ 53] < 515 +ams) + (18] x % + 236
7
@) {[5515] x [372 + 376] + [3515] * 313 + 2161}/ P(E)
Problem 4.
(1) 3/5.
(2) (1—5/28)2".
(3) 2/5.
Problem 5.
(1) B(X) =4, Var(X) = 12+ 4 — 4% = 0. Hence, BE(Y) = 1.5 x4 —3 = 3,
Var(Y) = 0.
(2) Any selection of a and b such that b = —4a will produce zero mean but no

selection can produce unit variance.



